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Ky !

Yarn: Viking Superwash, 2 balls in green, number 132 (100 meters on 50 gram) and Kampes
2-ply one skein in green, number 214 (300 meters on 100 gram). Some red yarn for
decoration.

Needles: one cirkular 2,5 mm and one 3,5 mm and dpns 3,5 mm.

At first we knit a hat. And then we put knitted squares on it so it will look like a Christmas

Cast on 104 stitches with Vikings Superwash on needles 2,5 mm and knit 1, purl 1 for 8
rows.

Change to needles 3,5 mm and knit 36 rows. Start decreasing:
Knit 11 sts, knit 2 together, repeat.

Knit 8 rows.

Knit 10 sts, knit 2 together, repeat.
Knit 7 rows.

Knit 9 sts, knit 2 together, repeat.
Knit 6 rows.

Knit 8 sts, knit 2 together, repeat.



Knit 5 rows.

Knit 7 sts, knit 2 together, repeat.
Knit 4 rows.

Knit 6 sts, knit 2 together, repeat.
Knit 3 rows.

Knit 5 sts, knit 2 together, repeat.
Knit 2 rows.

Knit 4 sts, knit 2 together, repeat.
Knit 1 row.

Knit 3 sts, knit 2 together, repeat.
Knit 1 row.

Knit 2 sts, knit 2 together, repeat.
Knit 1 row.

Knit 1 st, knit 2 together, repeat.
Knit 2 together, repeat.

Break the yarn and pull it through the remaining stitches, darn in the ends.

Now we knit with double pointed needles 3,5 mm with Kampes 2 ply.
Cast on 23 stitches.

Row 1: Knit until the last stitch, purl 1.

Row 2: Slip the first stitch knit wise, knit 9, slip 1, knit 2 together, pull the slipped stitch over,
knit 9, purl 1.

Row 3: Slip the first stitch knit wise, purl to the end of the row

Row 4: Slip the first stitch knit wise, knit 8, slip 1, knit 2 together, pull the slipped stitch over,
knit 8, purl 1.

Row 5: Slip the first stitch knit wise, knit to the last stitch, purl 1.

Row 6: Slip the first stitch knit wise, knit 7, slip 1, knit 2 together, pull the slipped stitch over,
knit 7, purl 1.

Row 7: Slip the first stitch knit wise, purl to the end of the row

Row 8: Slip the first stitch knit wise, knit 6, slip 1, knit 2 together, pull the slipped stitch over,
knit 6, purl 1.

Row 9: Slip the first stitch knit wise, knit to the last stitch, purl 1.

Row 10: Slip the first stitch knit wise, knit 5, slip 1, knit 2 together, pull the slipped stitch over,
knit 5, purl 1.

Row 11: Slip the first stitch knit wise, purl to the end of the row.

Row 12: Slip the first stitch knit wise, knit 4, slip 1, knit 2 together, pull the slipped stitch
over, knit 4, purl 1.

Row 13: Slip the first stitch knit wise, knit to the last stitch, purl 1.

Row 14: Slip the first stitch knit wise, knit 3, slip 1, knit 2 together, pull the slipped stitch over,
knit 3, purl 1.

Row 15: Slip the first stitch knit wise, purl to the end of the row.

Row 16: Slip the first stitch knit wise, knit 2, slip 1, knit 2 together, pull the slipped stitch
over, knit 2, purl 1.

Row 17: Slip the first stitch knit wise knit to the last stitch, purl 1.

Row 18: Slip the first stitch knit wise, knit 1, slip 1, knit 2 together, pull the slipped stitch over,
knit 1, purl 1.

Row 19: Slip the first stitch knit wise purl to the end of the row.

Row 20: Slip the first stitch knit wise, slip 1, knit 2 together, pull the slipped stitch over, purl
1.

Row 21: Slip the first stitch knit wise, knit 1, purl1.

Row 22: Slip the first stitch knit wise, knit 2 together, pull the slipped stitch over. Break the
yarn and pull it through the last stitch. Make 15 more.

Now you put the squares on the cap, 8 pieces around the hat. Then you put another row of 8
squares around the hat.



Knit 16 squares but start with 21 stitches. Put them in two rows on to the hat.

Knit 16 squares starting with 19 stitches and put them on the hat.

Knit 16 squares starting with 17 stitches and put them on the hat.

At last make 14 squares starting with 17 stitches. Put them in two rows with 7 pieces in each
row and now you are at the top of the hat. The two last rows are the squares not fitted in

between the squares from the last row as in previous rows, because the top is narrower.

If you want to you can gently steam the hat and pull in the squares to make them a bit
pointier.

Decorate the tree. The one in the picture has small balls in crochet. Start with 4 stitches in
the round, increase to 8, crochet one row and decrease on the next row to 4. Use the end to
put it in the tree. The yarn at the start can be used to fill the small ball.

Put a star in the top and go out and make people happy!
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